
Chapter 4

Amalgamation 
Accounts



oDuring last some years, many amalgamations have taken place. Two tea

companies Brook Bond India Ltd. and Lipton India Ltd. combined and formed a

new company called Brook Bond Lipton India Ltd. The Hindustan Lever Ltd.

absorbed Tata Oil Mills Ltd. (TOMCO). The Arvind Mills Ltd. absorbed The

Rohit Mills Ltd.

oProduction or large scale and giant industrial units are the outstanding

characteristics of modern business world. These has been a trend towards bigger

and bigger business units during the last hundred years. Some of the causes of

such trend are as follows:

1) Cut- throat competition at national and international level is harmful to all

business enterprises; therefore, they turn to amalgamation to save themselves

from this competition.

2) Two or more units combine to form a large-sized company in order to get the

benefits of economics of scale.



o In order to get the benefits of large-scale trading, there has been a trend towards

combining two or more business units. There are various ways of combining two

or more companies:

A. Amalgamation: When two or more companies carrying on similar business

decide to combine, a new company is formed to take over their business. This

process is known as Amalgamation. The existing companies go into

liquidation. Usually, the new company will issue its shares in satisfaction of

the purchase price and they would be given to the shareholders of the existing

companies in exchange of old shares.

 Suppose, two companies X and Y amalgamate and form a new company Z, then
mathematically the scheme can be represented as, X + Y = Z.

Brook Bond Lipton Ltd.
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B. Absorption: When one of the existing companies takes over

business of another company or companies, it is known as

Absorption. The company whose business is taken over, goes into

liquidation. In this case also, the intention is to remove unhealthy

competition. But one company continues its existence and the other

companies merge into it Under the Companies Act, Absorption is

also treated as one type of Amalgamation.

Suppose, X Co. takes over the business of Y Co., then the position is as under:

X + Y = X.

 The Arvind Mills Ltd. absorbed the Rohit Mills, which is an example of
Absorption.
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C. Reconstruction: Reconstruction has an another different purpose.

It is undertaken with a view to writing off past losses or to

reorganize the capital structure. There are two types of

reconstruction, viz. Internal and External.

In Internal Reconstruction the existing company continues to carry
on business in the same name but it reduces its capital and from the
balance available it writes off accumulated past losses. This has
been discussed in detail in a chapter on Alteration of Share Capital-
Reduction of Capital.

External Reconstruction takes place when a new company is formed
to take over the business of an existing company which goes into
liquidation. With change in the name, a new company is formed
with the same shareholders to carry on the same business. Its
purpose is also to wipe off the past losses and to obtain additional
working capital.



oThe following are some of the purposes for which two or more

companies combine by amalgamation or absorption:

 To eliminate or reduce competition

 To combine financial and technical resources

 Economies of large-scale production

 Benefits of centralization



oThe purposes of reconstruction are entirely different from those of

amalgamation. A financially weak company undertakes

reconstruction for writing off past accumulated losses and to obtain

some additional working capital.

oSometimes, reconstruction becomes inevitable and at times, it is only

desirable and not essential. If it is inevitable, it entails some sacrifice

on the part of the shareholders as well as creditors.

oAt times, it may be undertaken with a view to effecting

decentralization so that a particular branch or department may work

as an independent unit.



o In amalgamation, absorption and external reconstruction, one company takes

over the business of one or more companies and hence, the question of

calculating purchase consideration arises. Purchase consideration is the price at

which the business (i.e., assets and liabilities) of the vendor company are taken

over by the purchasing company. There are two methods of calculating the

purchase consideration:

o (A) Net Assets Method:

o (B) Consideration Method or Net Payment Method

o (C) Total Amount given: Sometimes, the total amount to be given by way of

Purchase Price is given in the example. In that case, the question of finding out

purchase price does not arise.



oThe purchasing company may agree to take over the business of

vendor company by stating the values of various assets (including

goodwill) and various liabilities. Then in this case, the purchase

consideration will be the difference between total value of assets

taken over at new valued agreed upon and total values of liabilities

taken over.

oPurchase Price = Value of total assets taken over – Value of total

liabilities taken over



oThe purchasing company may agree to pay to the vendor company a

certain lump sum of money either in the form of shares or

debentures or cash to the vendor of the company. The total of all

such sums payable will be the purchase consideration.

oHowever, if the purchasing company has agreed to pay purchase

consideration in shares, debentures or cash, then total of the value of

shares, debentures and cash will be the purchase consideration.









o Open necessary accounts like Realization Account, Shareholder’s Account, Bank or

Cash Account, Purchasing Company’s Account and New Company’s Shares or

Debentures Account.

o Balances given in Balance Sheet to be transferred to these A/cs.

o Share Capital A/c, P & L A/c etc. are transferred to Shareholder’s A/c.

o Two entries for Purchase Consideration should be made:

I. For Purchase Consideration due

II. For Purchase Consideration received

o Assets and Liabilities not taken over must be disposed off; Expenses to be paid.

oRealization A/c to be closed and Profit or Loss transferred.

o Payment made to shareholders and their A/c closed.



o Calculate Net Assets.

o Calculation of Purchase Consideration.

o Find out Goodwill or Capital Reserve:

 Goodwill = Purchase Consideration – Net Assets

 Capital Reserve = Net Assets – Purchase Consideration

o Pass necessary Journal Entries

o Prepare initial Balance Sheet of Purchasing Company.







• Solution: Here, we have to find out Purchase Consideration by using Net Assets Methods.

Net Assets = Total Assets – Total Liabilities

Total Assets ₹

Goodwill 1,50,000

Land & Building 4,00,000

+ 25% more 1,00,000 5,00,000

Plant & Machinery 3,00,000

- 10% Less 30,000 2,70,000

Stock 1,50,000

Debtors 2,00,000

- 5% B.D.R. 10,000 1,90,000

Total Assets 12,60,000

Less: Total Liabilities

Workmen’s Compensation Fund 5,000

7.5% Debentures 3,00,000

Workmen’s Profit Sharing Fund 45,000

Creditors 1,50,000 5,00,000

Net Assets (Purchase Consideration) 7,60,000









• Solution: Here, we first find out Net Assets of both vendor companies.

Step – 1: Net Assets = Total Assets – Total Liabilities

Total Assets Harshad Ltd. ₹ Pravin Ltd. ₹

Land & Building 3,50,000 1,00,000

Machinery 7,00,000 ----

Furniture 50,000 ----

Vehicles ---- 15,000

Patents 75,000 5,000

Stock 1,50,000 32,000

Debtors 50,000 31,000

Bills Receivable 15,000 ----

Total Assets 13,90,000 1,83,000

Less: Total Liabilities

Creditors 65,000 15,500

Bills Payable 10,000 75,000 ---- 15,500

Net Assets 13,15,000 1,67,500



Step – 2: Purchase Consideration of both Vendor Companies.

Particulars Harshad Ltd. ₹ Pravin Ltd. ₹

Equity Share Capital

(8,860 shares × ₹ 100) 8,86,000 (1,140 shares × ₹ 100) 1,14,000

Security Premium

(8,860 shares × ₹ 50) 4,43,000 (1,140 shares × ₹ 50) 57,000

Cash (Balance amount) 71,000 14,000

Purchase Consideration 14,00,000 1,85,000

Step – 3: Goodwill or Capital Reserve:

Harshad Ltd.: Goodwill = Purchase Consideration – Net Assets

= 14,00,000 – 13,15,000

= ₹ 85,000

Pravin Ltd.: Goodwill = Purchase Consideration – Net Assets

= 1,85,000 – 1,67,500

= ₹ 17,500











• Solution: Here, we first find out Net Assets of both vendor companies.

Step – 1: Net Assets = Total Assets – Total Liabilities

Total Assets Sagar Ltd. ₹ Sarita Ltd. ₹

Machinery 1,20,000 3,50,000

Building 2,15,000 4,50,000

Furniture ---- 1,00,000

Stock 1,50,000 6,82,000

Debtors 95,000 3,50,000

Bank Balance ---- 1,46,000

Total Assets 5,80,000 20,78,000

Less: Total Liabilities:

5% Debentures (W.N.1) 84,000 4,90,000

Creditors 1,20,000 60,000

Bills Payable 30,000 6,000

Bank Overdraft 10,000 2,44,000 ---- 5,56,000

Net Assets 3,36,000 15,22,000



Step – 2: Purchase Consideration of both Vendor Companies.

Particulars Sagar Ltd. ₹ Sarita Ltd. ₹

Equity Share Capital

Old New Old New

5 3 5 6

50,000 (?) 1,50,000 (?)

(30,000 shares of ₹ 10) 3,00,000 (1,80,000 shares of ₹ 10) 18,00,000

Cash 2,000 For every 5 shares ₹ 6

so for 1,50,000 shares (?) 1,80,000

Purchase Consideration 3,02,000 19,80,000

Step – 3: Goodwill or Capital Reserve:

Sagar Ltd.: Capital Reserve = Net Assets – Purchase Consideration

= 3,36,000 – 3,02,000

= ₹ 34,000

Sarita Ltd.: Goodwill = Purchase Consideration – Net Assets

= 19,80,000 – 15,22,000

= ₹ 4,58,000















 Solution:

(A) Amalgamation in nature of Merger:

Share capital issued by Arun Ltd.:

(i) 3,50,000 Equity share capital of ₹ 10 each ₹ 35,00,000

(ii) 14% 17,000 Pref. shares of ₹ 100 each ₹ 17,00,000

+ Security premium of ₹ 10 each ₹ 1,70,000

Total Payment: ₹ 53,70,000

Less: Total share capital of Badal Ltd. taken over

(Eq. shares ₹ 30,00,000 + Pref. shares ₹ 17,00,000) ₹ 47,00,000

Transferred to General Reserve ₹ 6,70,000



(B) Amalgamation in nature of Purchase:

Step – 1: Net Assets = Total Assets – Total Liabilities

(i) Total Assets taken over (36,00,000 + 5,00,000 + 25,00,000) ₹ 66,00,000

Less: Total Liabilities : 12% Debentures 3,50,000

Current Liabilities 5,00,000 ₹ (8,50,000)

Net Assets ₹ 57,50,000

Step – 2: Purchase Consideration:

(i) 3,50,000 Equity share capital of ₹ 10 each ₹ 35,00,000

(ii) 14% 17,000 Pref. shares of ₹ 100 each ₹ 17,00,000

+ Security premium of ₹ 10 each ₹ 1,70,000

Total Purchase Consideration ₹ 53,70,000



Step – 3: Goodwill or Capital Reserve

Capital Reserve = Net Assets – Purchase Consideration

= ₹ 57,50,000 – ₹ 53,70,000

= ₹ 3,80,000
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 Solution:

(A) Amalgamation is in the nature of Merger:

Share capital issued by A Ltd.:

(i) 70,000 Equity share capital of ₹ 10 each ₹ 7,00,000

(ii) 12% 2,200 Pref. shares of ₹ 100 each ₹ 2,20,000

Total Payment: ₹ 9,20,000

Less: Total share capital of B Ltd. taken over

(Eq. shares ₹ 6,00,000 + Pref. shares ₹ 2,00,000) ₹ 8,00,000

Transferred to General Reserve ₹ 1,20,000



(B) Amalgamation is in the nature of Purchase:

Step – 1: Net Assets = Total Assets – Total Liabilities

(i) Total Assets taken over (9,46,000 + 1,94,000 + 1,20,000 + 80,000) ₹ 13,40,000

Less: Total Liabilities :

(15% Deb. ₹ 40,000 + Creditors ₹ 1,40,000 + B.P. ₹ 58,000) ₹ (2,38,000)

Net Assets ₹ 11,02,000

Step – 2: Purchase Consideration:

(i) 70,000 Equity share capital of ₹ 10 each ₹ 7,00,000

(ii) 12% 2,200 Pref. shares of ₹ 100 each ₹ 2,20,000

Total Purchase Consideration ₹ 9,20,000



Step – 3: Goodwill or Capital Reserve

Capital Reserve = Net Assets – Purchase Consideration

= ₹ 11,02,000 – ₹ 9,20,000

= ₹ 1,82,000







 Solution: (A) Amalgamation is in the nature of Merger:

Purchase Price of both Vendor Companies.

Particulars Sagar Ltd. ₹ Sarita Ltd. ₹

Equity Share Capital

Old New Old New

3 4 4 3

6,000 (?) 5,000 (?)

(8,000 shares of ₹ 100) 8,00,000 (3,750 shares of ₹ 100) 3,75,000

Security Premium

(8,000 shares of ₹ 10) 80,000 (3,750 shares of ₹ 10) 37,500

15% Preference Share Capital

(2,000 shares of ₹ 100) 2,00,000 (1,500 shares of ₹ 100) 1,50,000

Security Premium

(2,000 shares of ₹ 20) 40,000 (1,500 shares of ₹ 20) 30,000

Purchase Consideration 11,20,000 5,92,500



Amount transferred to General Reserve:

Total Purchase price paid to both companies

(₹ 11,20,000 + ₹ 5,92,500) ₹ 17,12,500

Less: Total share capital of taken over

Sagar Ltd.:

Equity shares ₹ 6,00,000

Pref. shares ₹ 2,00,000 ₹ 8,00,000

Sarita Ltd.:

Equity shares ₹ 5,00,000

Pref. shares ₹ 1,50,000 ₹ 6,50,000 ₹ 14,50,000

Transferred to General Reserve ₹ 2,62,500



• (B) Amalgamation is in the nature of Purchase:

Step – 1: Net Assets = Total Assets – Total Liabilities

Total Assets Sagar Ltd. ₹ Sarita Ltd. ₹

Land & Building 5,00,000 3,00,000

Plant & Machinery 3,00,000 2,00,000

Non-Current Investment 2,00,000 1,00,000

Stock 1,30,000 70,000

Debtors 1,00,000 1,50,000

Cash & Bank Balance 65,000 1,25,500

Total Assets 12,95,000 9,45,500

Less: Total Liabilities:

15% Debentures (W.N.1) 40,000 28,000

Creditors 90,000 40,000

Bills Payable 15,000 1,45,000 10,000 78,000

Net Assets 11,50,000 8,67,500



Step – 2: Purchase Consideration of both Vendor Companies.

Particulars Sagar Ltd. ₹ Sarita Ltd. ₹

Equity Share Capital

Old New Old New

3 4 4 3

6,000 (?) 5,000 (?)

(8,000 shares of ₹ 100) 8,00,000 (3,750 shares of ₹ 100) 3,75,000

Security Premium

(8,000 shares of ₹ 10) 80,000 (3,750 shares of ₹ 10) 37,500

15% Preference Share Capital

(2,000 shares of ₹ 100) 2,00,000 (1,500 shares of ₹ 100) 1,50,000

Security Premium

(2,000 shares of ₹ 20) 40,000 (1,500 shares of ₹ 20) 30,000

Purchase Consideration 11,20,000 5,92,500



Step – 3: Goodwill or Capital Reserve

Sagar Ltd.: Capital Reserve = Net Assets – Purchase Consideration

= ₹ 11,50,000 – ₹ 11,20,000

= ₹ 30,000

Sarita Ltd.: Capital Reserve = Net Assets – Purchase Consideration

= ₹ 8,67,500 – ₹ 5,92,500

= ₹ 2,75,000


